EAFERPAEGRE 2P o=

5 S =

PaN 0
= PN 7K N T T
1 2 3
TR#%13:30~17:30 TR#&13:30~17:30
4 5 6 7 8 9 10
‘F*ﬁ_ﬁt%ﬁﬁ_w 3:36~Ef7;30 TRE~1730 | T RE~1730 | TR #E~1730 | TR #E~17.30
11 12 13 14 15 16 17
- = 47 T TR ~17:30 s 4T ENCTEIE GBS
JEAESE . = =] TRE~17:30 | FR#E~17:30 = e s TR#E~17:30 2
18 19 20 21 22 23 24
TRE1T30 | TRig~17:30 | FR#E~17:30 | FRE~1T:30 | Xe#HEH 9?%%%}%5%
25 26 27 28 29
TR%13:830~ TR 13:30~ TR1%13:30~ TR%13:30~ SHAPPY > [
17:30 17:30 17:30 17:30 % ALENTANE %
(BMSEHD (BMSTEED (BMEED (BEMSED

XZRHIA®EORLAARG 1R 108 (k) ESBTREFI . HUSHRAL HUFT.




